Section—C 2x14=28
(Long Answer Type Questions)
Note .— Answer any two questions. You have to delimit
your each answer maximum up to 500 words.
Each question carries 14 marks.
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10. What are the main problems of Industrial
Development in India ? How to solve them ?
IR # ol faem #1 e aHend sie-diee
¥ 7 TR ®9 gyE R S gk ¥ 2
11. “Globalisation is a mixed blessing.” Elucidate this
statement especially in the context of India.
“IedteRtor T fafyd aem §17 aRa & fovw wed #
9 YA Fi fag= Fifa|
12. Examine the causes of Industrial Sickness in India.
g H AR SO & RO ST U0 it |
13. “Inflation is a world-wide problem in present
times.” Discuss the causes of inflation with especial
reference to India.
“gdum wEE H gE-TRifa T favaerdt wmen ¥
AS-TRIG & HROT H1 9Rd & fou dgdf § =amen
eI
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Note .— The question paper is divided into three Sections
A, B and C. Write answers as per the given
instructions.
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Section-A 7x2=14
(Very Short Answer Type Questions)

Note .— Answer all questions. As per the nature of the
question delimit your answer in one word, one
sentence or maximum up to 30 words. Each
question carries 2 marks.
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(ii)

(iii)

(iv)

v)

(vi)

(vii)

Note —

What do you mean by Business Environment ?
A TAeRT & IR F1 WE § 2
What is Cash Reserve Ratio (CRR) ?
qhg HoHIE (CRR) 1 8 2
Mention two important objectives of Indian
Planning.
IRdE FESE & & 9yl SRl 1 S
RIS |
What is Industrial Sickness ?
sirenfier Tworan F § 2
Define Below Poverty Line (BPL).
Tl @ § A= (BPL) s aRwifea skifsie |
What is meant by Cost-push Inflation ?
TARTA-Sa qS1-Thita & F1 3 § 2
What do you mean by Foreign Direct
Investment (FDI) ?
yget farsht faer (FDI) | staest &= areqd © 2
Section-B 4x7=28
(Short Answer Type Questions)
Answer any four questions. Each answer should not
exceed 200 words. Each question carries 7 marks.
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. Explain the objectives of Fiscal Policy.

TSRS Fifd & SeRAl Bl THHATST |

. What are the main components of Economic

Environment of Business ? Explain.
A & Y AR & e 3T HhA-hAd § 2
RREIERY

. Throw light on the objectives of latest Industrial

Policy of India.
YA i Ta-ae AN ifd & S W Th™ Sife |

. Write a critical note on Rural Unemployment in

India.
R H I SUST R TSk SATA=AcHS feoqon
fafem |

. Why Foreign Direct Investment (FDI) is needed for

a developing country like India ?

aRa S fawEsia e % fau yoe faesht fem
(FDI) &t == SAea9aehal § ?

. Why Balance of Payments of India remains

unfavourable ?
IRA T PIIA HIeH F1 Ffashel § @l ¥ 2

. Explain the main failures of Indian Planning.

AR M @ T fawaarstt sl wse Hifs |

. Throw light on the benefits derived from World

Trade Organisation (WTQO) to India.
IRa # fava =R gmed (WTO) @ Wi 89 o
A W YR ST |
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